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® Dockerz H\L\ %

® Docker& (AT FHHBDREIREZER. fcfh. E1TI DKHDT T
N7 A —LA

# docker run -it -u xmp -w /home/xmp omnicompiler/xcalablemp

o EELHY—/NICSSHTOY1 VT 5
® user-name & /NA T — R IEHEFTORKE SR

$ export PATH=/opt/xmp-1.2.3/bin:$PATH
$ cp -r tmp/XMP/* .




TABMNDET

® 2.globalview & 3.localviewE WS 7T LI MU IC, #FNEh
JO0—/N)LEa—&0—AIE2—07O7 ZLHH %,

® X9 (F2.globalviewlC 3 dxmp_init_ans.cH U < [dxmp_init_ans.fo0%
IT4 7 TCHWIKEZW (RBIFELCTY)

#pragma xmp loop on {[i] 1Sxmp loop on t(i)
for(int i=0;i<10;i++) do i=1,10
ali] = i+1; a(i)=i
end do

#pragma xmp loop on {i]
for(int i=0;i<10;i++) ISxmp loop on (i)

printf("[%d] %d\n", xmpc_node_num(), a[i]); | |do i=1,10

print *, xmp_node_num(), a(i)
end do

® 1 V/N1ILEETT

$ xmpcc xmp_init_ans.c @ % xmpf90 xmp _init_ans.f90
$ mpirun -np 2 ./a.out $ mpirun -np 2 ./a.out



TAMNDET2

® X |&3.localview(c 35 S coarray vector.cH U < [dcoarray vector.fo0%
I74 7 TCHWIKIZZW (RBIERELUTY)

if(xmpc_this_image() == 0} if (this_image() == 1) then
a[0:3] = a[5:3]:[1]; /Il Get a(1:3) = a(6:8)[2] ! Get
for(i=0;i<10;i++) doi=1, 10
printf(" a[%d] = %d\n", i, a[i]); write(*,"(A5,12,A5,12)") "a(",i,") =", a(i)
end do
b[0:5:2] = b[0:5:2]:[1]; /Il Get
printf("\n"); b(1:10:2) = b(1:10:2)[2]; ! Get
for(i=0;i<10;i++) write(*,*) ""
printf(" b[%d] = %d\n", i, bJ[i]); do i=1, 10
write(*,"(A5,12,A5,12)") "b(",i,") =", b(i)
c[0:5][0:5]:[1] = c[0:5][0:5]; // Put end do
}

c(1:5,1:9)[2] = c(1:5,1:5) ! Put
end if
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$ xmpcc coarray vector.c l$ xmpf90 coarray_ vector.fo0
$ mpirun -np 2 ./a.out $ mpirun -np 2 ./a.out
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o fBAMDPut/Get
o FcHDHHABEITTEEDED (imageFESIFXMP/C)

image 0 Image 1

a[10] ={0, 1, .., 9}; a[10] = {10, 11, .., 19};

b[10] = {0, 1, .., 9}; b[10] = {10, 11, .., 19};

c[10][10] = {{O, 1, .., O}, c[10][10] = {{100, 101, .., 109},
{10, 11, .., 19}, {110, 111, .., 119},
{90, 91, .., 99}}; {190, 191, .., 199}}:
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XMP/C

If(xmpc_this_image() == 0}
a[0:3] = a[9:3]:[1]; /I Get

XMP/Fortran

If(this_image() == 1) then
a(1:3) = a(6:8)[2] ! Get
end if
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XMP/C

if(xmpc_this _image() ==
b[0:5:2] = b[0:5:2]:[1];

it

/I Get

XMP/Fortran

If(this_image() == 1) then
b(1:10:2) = b(1:10:2)[2]
end if

| Get
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XMP/C XMP/Fortran
if(xmpc_this_image() == 0} iIf(this_image() == 1) then
c[0:5][0:5]:[1] = c[0:5][0:5]; /I Put c(1:5,1:5)[2] = c(1:5,1:5) /I Put
} end if
o 1 2 3 4105106107 108 109
10 11 12 13 14115 116 117 118 119
20 21 22 23 24125126 127 128 129
30 31 32 33 34135136 137 138 139
40 41 42 43 44145146 147 148 149
150 151 152 153 154 155 156 157 158 159
160 161 162 163 164 165 166 167 168 169
170171172173 174175176 177 178 179
180 181 182 183 184 185 186 187 188 189
190 191 192 193 194 195 196 197 198 199




